WDI zadanie domowe 4 — Mateusz Serek

Zadanie 2

RGB(255,0,0) = CMYK(0, 100, 100, 0)
RGB(0, 255, 0) = CMYK(100, 0, 100, 0)
RGB(255, 255, 0) = CMYK( 0, 0, 100, 0)
RGB(0, 255, 255) = CMYK(100, 0, 0, 0)
RGB(62, 212, 107) = CMYK(71, 0, 50, 17)
RGB(102, 0, 0) = CMYK(0, 100, 100, 60)
RGB(255, 255, 204) = CMYK(0, 0, 20, 0)
RGB(255, 178, 102) = CMYK(0, 30, 60, 0)
RGB(51, 255, 255) = CMYK(80, 0, 0, 0)
RGB(0, 0, 153) = CMYK(100, 100, 0, 40)
RGB(216, 4, 32) = CMYK(O0, 98, 85, 15)

RGB(255, 153, 255) = CMYK(0, 40, 0, 0)






